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D-BLOCK
1. lkekU; :i ls ifjorZuh; vkWDlhdj.k voLFkk ugha

iznf'kZr djus okyk rRo gS %
(1) V (2) Ti (3) Sc (4) Cu

2. A 2 + 2 H OB 2
( )gjk

4 KOH, O2

3 B 2  + MnO + 2 H OC 2 2
( )cSaxuh

4 HCl

2 B 2  + 2KOH + A DH O, KI2

vfHkfØ;kvksa ds mijksDr Øe esa ] A rFkk D Øe'k% gSa %

(1) KIO3 rFkk MnO2 (2) KI rFkk K2MnO4

(3) MnO2 rFkk KIO3 (4) KI rFkk KMnO4

3. U;wure d.ku ,UFkSYih j[kus okyk laØe.k rRo gS %
(1) Zn (2) Cu (3) V (4) Fc

4. mRizsjdksa (dkye I) ds mRiknksa (dkye II) ds lkFk
lqesfyr dhft, :

dkye I dkye II
mRiz sjd mRikn

(A)V2O5 (i) ikfyFkhu
(B) TiCl4/Al(Me)3 (ii) ,Fksuy
(C) PdCl2 (iii) H2SO4

(D) vk;ju vkDlkbM (iv) NH3

(1) (A)-(ii); (B)-(iii); (C)-(i); (D)-(iv)
(2) (A)-(iii); (B)-(i); (C)-(ii); (D)-(iv)
(3) (A)-(iii); (B)-(iv); (C)-(i); (D)-(ii)
(4) (A)-(iv); (B)-(iii); (C)-(ii); (D)-(i)

5. Ti2+, V2+, Ti3+ rFkk Sc3+ ds ty;ksftr vk;uksa ij
fopkj dhft;sA muds fLiu&ek= pqEcdh; vk?kq.kksZ dk
lgh Øe gS :
(1) Sc3+ < Ti3+ < Ti2+ < V2+

(2) Ti3+ < Ti2+ < Sc3+ < V2+

(3) Sc3+ < Ti3+ < V2+ < Ti2+

(4) V2+ < Ti2+ < Ti3+ < Sc3+
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SOLUTION
1. Ans. (3)

Usally Sc(Scandium) does not show variable
oxidation states.
Most common oxidation states of :
(i) Sc : +3
(ii) V : +2, +3, +4, +5
(iii) Ti : +2, +3, +4
(iv) Cu : +1, +2

2. Ans. (3)
MnO2(A) 24KOH,O¾¾¾¾® 2K2MnO4(B)  +  2H2O

            (Green)

3K2MnO4(B) 4HCl¾¾¾® 2KMnO4(C) + 2H2O

              (Purple)

2KMnO4(C) 2H O, KI¾¾¾¾®  2MnO2(A) + 2KOH

+ KIO3(D)
A ® MnO2

D ® KIO3

3. Ans. (2)
Since Zn is not a transition element so transition
element having lowest atomisation energy out
of Cu, V, Fe is Cu.

4. Ans.(2)
V2O5 is catalyst ® contact process for H2SO4

TiCl4/Al(Me)3 ® Ziegler Natta salt used as

catalyst for polymerisation of ethene.

PdCl2 ® used as catalyst for ethanal (Wacker

process).

Iron oxide ® is used as catalyst in Haber's

synthesis.
5. Ans.(1)

Ti+2 = 1s2 2s2 2p6 3s2 3p6 3d2

unpaired electrons = 2.

spin only magnetic moment (µ) = 2(2 2)+

          = 8  B.M

Ti+3 = 1s2 2s2 2p6 3s2 3p6 3d1

unpaired electrons = 1

µ = 1(1 2)+ = 3  B.M

V+2 = 1s2 2s2 2p6 3s2 3p6 3d3

µ = 3(3 2)+ = 15 B.M

Sc+3 = 1s2 2s2 2p6 3s2 3p6

µ = 0
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